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INSTRUCTIONS: i) Answereach question on a fresh page.
ii) Write the numbers of the question and sub-question clearly.
iii) All questions are compulsory.
iv) Figures to the right indicate full marks.
v) Use of logarithm table is allowed.
vi) Graph paper will be supplied on request.
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1. A)IfA= { } and B = { } then, find transpose of A + B. [1]

B) Construct a forward difference table for the following data

(x| 0] 5[10]15|20|

y|-4|-6[-8[ 1] 4 hence identify A%y, A%y,,. [2]

C) Discuss the continuity of the function at x = 2

2
X —4

f(X)=————=for0 < x<2

x) X% — X —2 )

xZ +1

= for2 < x < 4.
X+2

[3]

D) Solve the following linear programming problem using graphical method.

Maximise z=x+ 4y

Subjectto x + 3y > 3,
2X+Yy > 2,
Xx>0andy > 0.

2. A) Differentiate 5x + log(sinx) with respect to x.
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B) IfA={ },Bz 1 1| find |AB.
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+log x |dx.
C) Evaluate I{xlogx g [3]
D) Ifx = =2 y—a(1_m2) h i ter show that = = =" 4
) X_1+m2’ (1+m2)werem|sparameers ow tha ax 1 [4]
3. A) Evaluate [2sin(3 —2x)dx. [1]
B) Two perfect cubic dice are thrown, find the probability that the sum of the
numbers on their upper face is at least 8. [2]
1
C) Evaluate [ % [3]
ox+1-+/x

D) Find the coefficient of correlation for the following data.

(x| 1]2]3]4]5]

y|4]5]6]7]8] o
4. A) Find the matrix Aif A= [aij]2X3 where a; = 3(i+j)fori=j
=i2—jfori | [1]
B) Evaluate | xsec® xdx. [2]
6
C) Evaluate | (2x+1)dX ysing Simpson’s rule where n = 6. [3]
0
1 3 3
. . |1 4 3
D) Find the inverse of the matrix [4]
1 3 4
5. A) Evaluate [P?*""dx. [1]
d
B) Find — if y = sin (x.5%). 2]
dx
C) Solve the differential equation (e* + 1) cosy dy + e* siny dx = 0. [3]

D) Given that f(0) = 4, f(2) = 6, f(4) = 8 using Lagrange’s inverse interpolation
formula find the value of x when f(x) = 7. [4]
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